[image: image1.png]


Cairo governorate
Nasr city educational zone 


Alsun modern school 





For

[image: image2.wmf]Primary Four
[image: image3.png]



· 2013 

Name : ……………………………………..

Class : ……………………………………..

Summary

	Shape
	Its Sides
	Its angles
	Its diagonals

	Square


	-Its sides are

Equal in length 

-Each two opposite sides 

Are parallel.
	Its angles are 

Right angles

 ( 90 )
	-Its diagonals are

Perpendicular, equal 

In Length and bisect 

Each Other .

	Rectangle 


	Each two opposite

Sides are equal in 

Length and parallel 
	Its angles are 

Right angles

 ( 90 )
	-Its diagonals are

equal 

In Length and bisect 

Each Other .

	Parallelogram
	Each two opposite

Sides are equal in 

Length and parallel
	-
	-Its diagonals

bisect

Each Other .

	Rhombus 



	-Its sides are

Equal in length 

-Each two opposite sides 

Are parallel.
	-
	-Its diagonals are

Perpendicular 

and bisect 

Each Other .

	Trapezium 


	Has only two 

Opposite sides are 

Parallel and not 

Equal in length .
	-
	-


                                                                   Mathematics Department
revision for primary 4
(1)Complete:
1)The place value of digit 5 in the number350200 is…………..
2) Two hundred thousand , seven hundred and two is………….

3) The smallest number formed from 5,0,8,3,7,2 is…………..

4) 100568 , 100578 , 100588 , ………. , ……….. , ………….

5) 854721=…….…..+…..…….+4000+700+…….…+……...

6)……………..….=700000+6000+20

7) The value of digit 0 in the number 38790487 is…………..

8) The greatest number of 7-different digit is…………….

9) The smallest of 8-digit number is …………….

10) 59million  ,   2thousand   and 54 =……………

11) 847215  +  204684 = ……………..

12) 9647800 - 7531203 =…………….

13)…………. – 4808199=3121703

14) 2324× 57=…………..

 15) 865÷ 5 =……………..

16)38571÷43=………………..
17) The polygon which has four sides is called a ……………..

18) The Hexagon is a polygon with……sides, but the Octagon is a polygon with ……..angles

19) In the square, all angles are……….angles.

20) In the parallelogram, each two opposite sides are ………………and ……………………..
21)The four angles are right in ……….and …………..

22)The four sides are equal in length in…….and………..

23)The measure of any angle of square =………. °

24)The two diagonals of the square are ……………
25) In a rectangle , every two opposite sides are…………….. in length length.

26) The smallest of 7-different digit number is ………………………

27) The quadrilateral is a polygon with …………………..sides

28) In the rectangle , all angles are ……………………. Angles 

29) Three hundred seventy thousand, six hundred and thirty four=…………………………….(write in digits ) .
30) The greatest number formed from these digits 5 , 2 , 4 , 3 , 1 , 8 is…………………………… 
31) The smallest number formed from these digits 3 , 4 , 0 , 1 , 8 , 2 is  ……………………………
32) 546 865 179 = ……………….. million , …………….. thousand and …………………….
33) 7 543 145 798 220 = ……………. Milliard , …………… million , ………….. thousand and …………………..
 (2)Choose the correct answer;
1) All sides are equal in length in………
                                      (square- rectangle- parallelogram)
2) A quadrilateral that has only pair of parallel sides is called………………….

                          ( parallelogram- rectangle- trapezium-rhombus)

3) A quadrilateral that has only pair of parallel sides is called………………….

                       ( parallelogram- rectangle- trapezium-rhombus)             
4) 7 251 309 + 748 691 = …………..
                       (8milliard- 8million – 8thousand – 8hundred)

5) Ten million and four hundred eighty two thousand = …………………

                     ( 10 408 000 – 10 482 – 10 482 000 – 10 428 000)
6)  The figure whose four sides are equal in length is called……………………

               (trapezium – parallelogram – rhombus – rectangle )

7)  32 560 018 …………………… 32 519 918         ( < , = , >)

8) The value of the digit 8 in the number 437 839 562 is ……………………

                                    (800 – 800 000 – 8 000 000 – 80 )

9) 4 million +  3 thousand +  28  = …………………….

                         ( 4 013 280 – 41 328 – 4 132 800 – 4 003 028 )

10)The smallest 7-different digit number is…………………....

                         ( 1 000 000 – 1 234 567  - 1 023 456 – 9 876 543 )

11) The two diagonals are equal in length and perpendicular in a ……………         ( square – rhombus – rectangle – parallelogram )

12) Two perpendicular straight line make four ……………..angles

                                  ( acute – obtuse – right – straight )
       ___________________________________________________       
(3) Arrange the following numbers in an ascending order :

a) 6 360 012 , 3 954 658  , 102 245 201    and 12 158 008 

……………………. , ……………………. , ………………………….. , …………………….

(4) Arrange the following number in descending order ;

a) 94 987 145 , 965 852 664 , 9 325 997 , 9 654 784 

……………………. , ………………………. , …………………………. , ……………………….
(5)Find the result:

1)1 465 789 + 5 984 078=…………………………               

2)- 7 423 856 – 5 018 739 =…………………………

3) 235 × 85  =…………………..                                   
4) 7070 ÷ 35= ……………

5) 144 ÷ 12 = …………………

6) 321 × 56 = ……………..
7) 123 459  +  876 432 =……………………..

8) 1196 ÷ 23  = ……………….         

9) 2587 × 36 = …………………
____________________________________________________
(6) Story problems:
1) During a year , there  were 4 578 984 visitors to the zoo, in the next year, there were 3 459 982 visitors. Calculate the sum of visitors in the two years?

…………………………………………………………………
2)A factory produced 2 876 987 toys in one year , the next year ,the factory produce 4 543 656, find the difference between the production in two years

…………………………………………………………………
3)A group of 328 tourists is divided into 8 buses. Find the number of tourists that can each bus carry?
…………………………………………………………………………………………………
4)A man bought 98 meters of cloth for L.E.45per metre. Find the total cost price.

…………………………………………………………………

5)Find the number that if we divide by 458, the quotient is 29 and the remainder0

……………………………………………………………….
6)Find the number that if subtracted from one million, the result will be 562854

………………………………………………………………
__________________________________________________
7)rite the relation between the two lines:



a)………..………


b)………………………      c) ………….………………



d)………………………
e)……………………………

f)………………………….. 
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